24. A company shows the following results for two periods:.

Period . Sales Profit
I Period - Rs. 20,000 Rs. 1,000
II Period Rs. 10,000 - Rs. 400

Calculate:

(a) P/V ratio .
(b) Fixedcost =
(¢ BEP
(d) Profit when sales are Rs. 30,000
@@m Hpwd GDaeumn Qranh sTeLsERESTET  eleuphismar
sr_(hdmg g
srow  elpueamer  @emuid
I a. 20,000 . 1,000
I . 10,000 @p. 400
saTsS [ ;- .

(=) Qo sietey iz

(=) Flenavwirer Qeewey

(®) QeruplL wHp Leraf
(¥F) @ﬂﬁ);.lmm 5. 30,000 QméED Qurr@gj @erubd
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PART A — (10 x 2 = 20 marks)
Ahswer any TEN qﬁestioné. 4
1. What is cost sheet?

D55 L L_GUGHEHT GTETDAE) GTEITE?

2. Define Job costing.
uenfl semréfluicd euenyuwimy.
3.  What is contract costing?
RUIUbS SEMESLID CTETLIS) WITS)?
4.  Give a short note on work certified. -
snampafiliy Geuane DM Am GHLIY SmHs.
5. Define Process costing.
Uig.ApenD Semédlcd euamyuig.
6. Mention any two advantages of process costing.
Uiy e samsdlie pearamwsafle CGsaib @reman. GHLKHs.
7. Whatis operﬁting costing?
Qs iLGsellwie) erennmed eTemen?
8.  What are standing charges? -
BleneouImar &1L eRTEIGET GraiLInel WITEnE.?

J

9.  Define Marginal costing.

wAUEIL L Ssedlwed udH cuenTLD.

8.com \ O) Mvarced Coab Hecounding.

i



10.

11.

12.

13.

14.

15.

What is key factor?

W&EIW sryentl cremmmed eramen?

Give the formula for computing EBQ.

EBQ sewsfl(heugparer GsH15ems 5155

Write a short note on Cinema theatre costing.

Sarqugng SiLssellud updl Ay GOy Tgs.

PART B — (5 x 5 = 25 marks)
Answer any FIVE questions.

State the objectives of job costing.

venfll sarsSwcien Coréamhgmer ellalfl.

' Distinguish between Job costing and contract costing:

venf] saERURISEGLD, RUUBS samsHugsGL 2 erer Coumum® wirg)?

Calculate cost of each process and total cost of production from
the data given below:
Process I Process II Process III

Material , 2,250 750 300
Wages - 1200 3,000 900
Direct expenses 500 500 500
Works overhead 1,890 2,580 1,875

Other indirect expenses of Rs. 1,275 should be apportloned on

the basis of wages.

Qereumd  claupiisemer  Qaram®  @eaQeun@  Ligapanpuler

SIL &GS wHHID 2 HLSHuler QTss DL EE5mSLD SamédlH
ugeen I ugapenp IT  Lgapenp 111

epe@ummer 2,250 750 300
E ) . ' 1200 3,000 900
G Qs@aysar 500 500 500
Gauena CophQFea|ser 1,890 2,580 1,875

ga.e0ludletr éilq.l_lL_IGIDI_US]GI) uflpuEL @sT wanys dswaseflar S
. 1,275 @b,
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23. From the following data relating to vehicle X calculate the cost
per running kilometer and Tone per km.
S : Vehicle X
Kilometers run (annual) 15,000
Tones per km (average) - 6 .
Cost of vehicle Rs. 25,000
Road license (annual) Rs. 750
Insurance (annual) Rs. 700
Garage rent (annual) - Rs. 900
Supervision and salaries Rs. 2,400
Drivers wages per hour " Rs. 3
Cost of fuel per litre <o Rs. 3
Kilometers run per litre 20
~ Repairs and maintenance perkm Rs. 1.75
Tyre allocation per km 90 paise
Estimated life of vehicle 1,00,000 kms
Charge interest at 5% pa. on cost of vehicle. The vehicle runs
20 kms per hour on an average
auaimg. X &@ QsmiyenLw eSleurkigdr @mm(r_r,u)rrgn cuentiy. @HLD (1
ACem SLLT ohmyd HGeom L&_l_rr Lengeflgd c"ql_asag,cmg &S (5.
aueiriy X
@G HCe B Lt (< arHES) " 15,000
Lensafleh gpqm HCeom LBl_l_@aS@ (&l;rrr&fﬂ) 6
cuaiTig uftelr |L_&a1b 5. 25,000
g 2 fMwb (QaTHEE) 5. 750
sTUSE (LT DES) . 5. 700
Quri euaimg Q&M _15.6b eurL_ens _ 5. 900
Gmrj)urrr'mpm LOHOILD FLbUETLD - 5. 2,400
@ wanflGarean gL Qe sl 5. 3
erAQuTmET b L (& ‘ 5. 3
R AL &EE @O HCeom B 20
@@ HCom BLL mésrar LpgLTTiIL LHYD uFTwAly . 1.75
2@ ACar BLL MméEE Lwmsstar s&80 \ 90 auam
cuairig uflerr AN L puyer 1,00,000 &..5

auently. LOZIIL Bg 5% eully cu@welss. epmefluns euam'ru} @(m wewfl
Corsslés 20 HCar BLL i @HEng).
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Qumrd @md eauf iy 1,35,000
Qar@uL Geuamrig i g6l 36,000
Qarhur Geuearigw Criyig Gaeeyser 27,000
snenpeflEsuL TS Leantl 95,400

Gyrés Qupmg (80% srempafidsu L ueafl) 9,00,000 -

RUUBS sarsms sunflés. @muy Hlowd GhaGd Qsm e w
eurrisener rl_(Hs.

22. A product process through three processes I, II and III, from the
following information prepare the procéss accounts assuming
that there were 1no opening or closmg stocks.

: Process I. Process II Process II1
. Rs. Rs. Rs.
Materials 1,000 = 1,500 . 500
Labour 5,000 8,000 . 6,500
Overheads 1,050 1,188 * 2,009
Actual output (units) 9,500 9,100 8,100
Normal loss 3% 5% 8%
The wastage of process I was sold at 25 paise per unit, that of
process II at 50 paise per unit and that of process III at Rs: 1 per
unit.
Raw materials of 10,000 units were introduced into process I in
the beginning at a cost of Rs. 1 per unit.
@@ elenar@ummeT Uigpen (l,pemgj ugapenpaeer I, II wpmo III
aens Genam@peareng. Gemeumd elleugmsmer Qarar@® OsrT_&s
er&dmuL vz Qmid srsSmaL Qdme eTa Lilg1penn SaTsans
- swrflés.
UlgApa@mD  Liig(Lpedm Ll§ 1penD
I 11 I1I
, 1. . - -

- epeliQummeTseT g 1,000 1,500 500
2 enipLiLy 5,000 8,000 6,500
Cun@seweyser 1,050 1,188 2,009
o a@meniowiner Qeuafum@® 9,500 9,100 8,100
(S1vGsaT) .

SMSTFERT HL_L_LD 3% 5% 8%

ugaen I & ghul L sfima @n OEEE 25 @usT aatayb,
ugapep 1T, & om <weseE 50 amusr wpmbd ugapen IIT & em
SVEGES 5. 1 eramayid elHasliil L gy.

ugapenp I & @cbmbl‘_lgﬁeb gpaliQurmer 10,000 i@ ser i@ peanm
. 1 eran il s GFsLULLg.
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16.

17.

18.

19.

Pankajam travels employs 5 buses which run over a route of
140 kms (one way), making one round trip per day. The buses
run 360 days per year and 10% of them on average are laid out
for repairs. Ascertain the total running kilometers per year.

UEISGD uwer gpuilLraiser 5 Cumpgisemar 140 &5 (¢ culfl)
afis sdlo @@L vwauRSEADE, @G BrEaEE @G SHO
Qerdlpg). @f wan(dsE 360 priseEnd Cumbgiad g@hidamenr.
wHmd @ 10% syreflure LWHUNTULESG REGWD. @rr AT (HESG
@O QLorrg,g_r, Cam 15 L_eoy samsS[H.

From the following partlculars, calculate the break-even point:
Variable cost per unit Rs. 24

Fixed expenses Rs. 1,20,000

Selling price per unit Rs. 36

|5|66T6)J([§LD deauymigamer  Qamar(® Qeoru  BLLLODHD L|61TGTﬂGU)I.LI
SaSE (.

wrmu@b AFwea| @@ ANGEE . 24

Hlevawirar QFewe,|ser . 1,20,000

siipuemer ellene @ OGES . 36

What are the advantages of marginal costing?

IMLIHID 24 &&6Wwellen HeranogieT Wmene ?

The following particulars are related to contract undertaken by
Ram Construction Ltd. Plant purchased Rs. 60,000; Wages paid
Rs. 3,40,000; Overhead apportioned Rs. 40,000; Material issued
to site Rs. 3,36,000; Plant at site Rs. 48,000; Work uncertified
Rs. 20,000; Cash rece1ved Rs. 6,00,000 (being 80% of work
certified). :

Prepare contract account.
g sC_(Gorer SQLL adSgs Aamam @uubsd QFmiTemLw
eleupiigar lemeu LMy
Qumdl eurmdwg .  60,000; sed QeugHwug . 3,40,000;
CuonQsweysar wdliay . 40,000; . Ceuevar QLEHDG ez
epolidurmear 5. 3,36,000; Ceuenew @LsHed GQumdl ep. 48,000;
grempafiiGerarr Geuewed @m. 20,000; GQrrésd Gupmg . 6,00,000
(srempefiiy 80% y@b).
RUUBS sarTéans SWmit Qs
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PART C — (3 x 10 = 30 marks)
Answer any THREE questions.

20. From the following details, prepare a cost sheet:

Rs.
Raw materials purchased © 2,40,000
Direct wages 2,00,000
Carriage inwards ‘ 2,880
Stock of raw materials 31.12:2010 44,480
Stock of finished goods 31.12.2010 (400 tons) 64,000
Factory overheads ‘ 96,000
Sales (3,800 tons) © 6,60,000
Stock of raw materials 1.1.2010 : 40,000
Stock of finished goods 1.1.2010 (200 tbns) 32,000
Work in progress 1.1.2010 : 9,600
Work in progress 31.12.2010 ' 32,000
Admi_nistratiVe overhead 66,000

Qemaumid efleunmsener ASTan(H Sil_&s SiLLcuemeeniu SWIi Qs

: €.
gpeLIQuTBeTSeT eurhiLg) 2,40,000
Criyig gn.6ll 2,00,000
2 G155 Fnadl | 2,880
gpIQLIm(mHeT @@uq 31.12.2010 44,480
WL pbs sréflen @iy 31.12.2010 (400 _ensar) 64,000
2 ema Copblsaeser 96,000
eflpLiemen (3,800 Lenser) ' 6,60,000
eI QunETEdT @tiy 1.1.2010 © 40,000
e s Fyédlen @muy 1.1.2010 (200 (eisar) 32,000
ventl euerisfl 1.1.2010 _ - 9,600
uenfl quemiédl 31.12.2010 32,000
Biteurs GomQameyser 66,000-
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21.

Arun Kumar undertook a contract for the construction of houses

on 1%t January, 2008.
The contract price was Rs. 22,50,000.
The following figures are available for 2008:

Rs.
Materials purchase’d‘ 3,60,000
Materials issued from stores 45,000
- Labour 1,35,000
Plant installed at site 1,80,000
Direct expenses 90,000
Establishment charges 22,500
Materials returned to stores 22,500
Materials on hand at the end 9,000
- Plant in hand at the end 1,35,000
Wages outstanding 36,000
Direct expenses outstanding 27,000
Work uncertified 95,400

Cash received (80% work certified) 9,00,000

Prepare the contract account. Show the relevant items in the

Balance sheet.

1 gareufl 2008 ey SmamT@GLIT @@ eIl sL(QeusnsTe

SUUBSSMNS eT(HES mmiT
@Uubg eflenas e. 22,50,000
2008 - e flenL_gg efeunmiseT NemeuHLOTD)

€.
ppeiQummerT eummhidluig 3,60,000
ALt AN mEE oiefss eperi@unmesd 45,000
2 anipLiL 1,385,000
Gauaner @8 QummssLL L QUi 1,80,000
Criyg. Qeeveyser 90,000
CampmediiLs &L ewrid 22,500
ALRGEE St apeoli@urerser 22,500
epeli@urmer @mif enasufmiiy 9,000
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